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(1)  There are 50 questions in the Test Booklet.
The answer of each question is any one
out of A, B, C and D. Four alternatives
are given with the question. You have to
answer all the questions.

(2)  Each correct answer carries (1)one mark.
For each wrong multiple answer for each
question will be treated as wrong. No
negative marking for wrong answer.

(3)  You have to answer on the OMR Sheet is
given separately to you. For example :
Which State of India has the longest Sea

Coast ?
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andra Pradesh

In OMR Answer Sheet :

ONON NO

The true answer is "C". Hence circle of
"C" is blackened (encode).
(4)  Don't write anything on the Test Booklet.
(5)  Use blue/black inked ballpoint pen for
filling responses in the OMR Answer
Sheet. Any other ink, pen or Pencil is
strictly prohibited.

(6) During exam from candidate, if any false
matter, guide, cheats, slips, any handwritien
material, any printed material, mobile phone,
pager, calculator or any electronic
equipments are found he/she will be
disqualified.

(7) Gossips, making noise or disobeying
instructions given by Invigilator will be
considered disobedience.

(8) Do Rough Work on last page.
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Do not open the Question
Booklet until ask to do so.
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1 Which of the following is a characteristics of social research ?

(A) Research is a systematic (B) Research is a logical
(C) Research is a reductive (D) All of the above
LAl wlrs AN 54 aa S ¢

(A) AWEA A s yglr B, (B) e 2 35 dulds 8.
(C) a2 A5 »yydl V. (D) Gu-i oui o

2 Which of the following are the areas of social work research ?
(A) Studies to establish, identifying and measure the need for service
(B) Studies to measure the services offered as they relate to needs
(C) Studies of test, gauge and evaluate results
(D) All of the above
AAniel sul 1B AL Av/RcR D,
(A) Adl A<l Wuaisi A2 duall slea fsuiad)
(B) 3Rl @ddl Adl Asll M2 AeAA Hyd).
(C) &0, Wu 2 wReuHHL YeuisH-l sieqn
(D) GBuanii &4l o

3 Which of the following statement is not correct ?
(A) Social Research aims at discovering of new facts
(B) Social Research is a problem for human being
(C) Social Research deals with social phenomena
(D) Social Research requires deep knowledge
(el 54 Mdse w3 el
(A)  Aeulrs ddlacdd agd A B 3 adl ge- dudl
(B) allrs dallun wl a2 A A B,
(C)  wulys N8t AMlBrs sueuu agld 8.
(D) Arulys ddlasdn Glaeiyds sud ASA 8.

4 Which are the characteristics of good sample ?

(A) Clarity (B) Flexibility
(C) Stability (D) All the above
AR Fednl qael 520 S -

(A) wedl (B) aaxllsdl

(© R (D) Gu- oyl o

BPK-21008 A | 2 [ Contd...



5 Which are the tools of research ?

(i)  Schedule (i) Questionnaire
(iii) Interviews and visits (iv) Records

Select the correct answer from the code given below :

(A) (i) only (B) (), (ii), (iii) only
(C) (ii) and (iii) only (D) All of the above
3ol ANl s34l A8 D ¢

@) =gyl

(i) usriadl

(iii) ul5a01d Yaisidl il /A -dUIA.

(iv) sael

A e Sauiell AR Fael uie 5A.

(A) 854 (i) B) s5d (i), (ii), (iii)
(C)  &%d (i1) 21 (iii) (D) GuarL suL ¥

6 Which of the following is the appropriate definition of Social Work Research?

(A) Social Work research as organized scientific endeavour is an established
professional activity towards building up a general theory of human
behavior....

(B) Social Work Research does not begin with practical problems, and its
objective is to produce knowledge that can be put to use in planning....

(C) Social Work Research is highly systematic, moderate critical

investigation of questions in the social welfare field with the purpose
of yielding answers to problems of social work...

(D) Research in Social Work may not be taken to encompass those questions
which are encountered in Social Work practice or in planning or
administering Social Work services.

[A-nigdl 55 s wrrsid Aan-dl qoy vy 9.

(A)  wusld Au A Asfis 2 Ao Ad As Aslis sl B F Hgsil adHn
Rigicl Aa srliaciil s s v 8,

(B) wuwstd dAus udeiRs naedl w3id s Aell, Al you &g A B 3
Fetiel % stivl RsAtadidi »0d © A« 2w+l M2 Gualaml Al 2ud 8.

(C)  wogstd ialtu-t A vol % GlAl saus, il Ad 2uellaicns usdal Aadlas
¥ Feltell weseast axul aisidul uadeg i 0l 8.

(D) w5t ANU-L 635 Aviell Uaeil Fla A5t 2dl fldsami »ud & wadl
Asi 2l sl 3 alsadlil d-l wda sl viag ol
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7 Which are the integrated steps of research and practice in Social Work
Research ?
(1) Problems Assessment
(1) Problems Formulation
(iii) Formulation of intervention strategies
(iv) Research Design Development
Select the correct answer from the code given below :
(A) (1) and (ii) only are correct
(B) (), (i) (ii1) only are correct
(C) (@i), (ii1) and (iv) only are correct
(D) All above are correct
Wosstd] Al A e ugltnl £ yala walka 87
() us asiuel () ueedld 83dR
(i) ewadlllAl g A wddx  (iv) AWYAAL 3uvn [Rsruadl.
(1Al [seqiniafl Aun yie s,
(A)  ssd (D) 2 (i) an (B) &sd (i), (ii) 21 (jii) w120
(C) s (iD), (iii) 2 (iv) AR (D) Guatli et o AR

8 Who said the following statement : 'This is a challenging task for social
work educators. The challenge is also to recognize the ways in which research,
theory and practice can be linked by incorporating research into practice

settings and by shaping practice settings into research opportunities'.

(A) Thomas (B) Hopps

(C) Reid (D) Bloom

1A R 89 s8] 8 ‘Ui sl Rldl MR 2 B85 USRS 8. UsR Al
8 & Aaan Hiudl Andal M2, % AW sl 2Uud 8 a4 58 A Rigid 219
R ol 5§ Ad WAG A0 A Al afHl 3 asw’.

(A) DU (B) sSlwy
(C) IS (D) 4y
9 The Secondary Data are collected from :
(A) Records (B) Respondents of the study
(C) Focused group discussion (D) Participant observation
oflont AL sl suiell Anaaml 2ud & ?
(A) wdaidl (B) 04l GureldIvl
(©) o aall wdd dis (D) asowll Mas

10 What SRS Stands for ?
(A) Sample Registration System (B) Simple Random Sampling

(C) Social Research System (D) None of the above
AR A™ . Y3 A orudl.

(A) - Abell uglt (B) g usfs Fedq
(C) wrulys Ay ugla (D) Guanidl Ayl 1l
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11 Who pointed out the following characteristic of an interview ? 'There is a
face-to-face contact, conversational exchange and verbal interaction between

the interviewer and the respondent’.
(A) Lindzey Gardner (B) Black and Champion
(C) Bradburn and Sudman (D) Schuman and presser

DAl 99 030 cnalisade 2uq 8 7 Yausid (SH2re) SR A
ukiesR 42 AMbs adld, didalld RFE¥Y 29 Al Ba wabu 8.

(A) [ 2ué-r (B) ol 2 YA
(C) R ¥ YRR D) addl

12 Which among the following is type of Mean?
(1)  Arithmetic mean
(ii)) Geometric mean
(iii) Harmonic mean
(iv) Quadratic mean
Select the correct answer from the code given below :
(A) (i) and (ii) are correct (B) (i) and (iii) are correct
(C) (iii) and (iv) are correct (D) All above are correct
DAl S 2 AAAAD USR B
(i)  isolRid v
(i) olflas AR
(i) silHs A
(iv) suRRs uua
Al Rseynidl AR yie 2.
(A)  §5d (i) ¥ (i) AR (B) s5d (i) 2 (iii) 20
(C) ssd (iii) A (iv) AL (D) Gurl o4l % Al

13 'The scale classifies individuals into two or more categories, the members of
which differ with respect to the specific characteristic is called

(A) Nominal Scale (B) Ordinal Scale

(C) Interval Scale (D) Ratio Scale
B AZal & 3 Aol ay ol aollsd 22 8, ¥ uedl R calisdinl
Aeolul get W3 B d- sdau.....

(A)  ilBd Ba (B) 24 wBe
(C) »idua 34 (D) el W
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14  Which of the following is the classified hypothesis?

(i)  Working hypothesis (ii)) Scientific hypothesis
(iii) Research hypothesis (iv) Null hypothesis
Select the correct answer from the code given below :

(A) (i) and (ii) are correct (B) (i) and (iii) are correct
(C) (iii) and (iv) are correct (D) All above are correct
(A vdeunidl 5§ asllgd ydureu 87

()  sdsd yduireu (i) Qs yduieu

(i) Agla- yduieu (iv) +a ydureu

A el Slauiell wale wrie &3,

(A) 854 (1) @A (i) w0 (B) §%d (i) 2 (iii) A
(C)  ssd (iii) 2 (iv) w1l (D) GuR-il &4l % AL

1S Which part of the computer does the calculations given to computer ?

(A) Keyboard (B) C.PU.

(C) Monitor (D) None of the above
suy2Rl Ul ML $¥eR YR AL wdd dRIdT] 53 B7

(A) A-608 (B) =A.dly.

(© +~er (D) Gur-aidl 818 o «dl.

16 Who gave the following definition of Social Work ? 'The art of bringing
about better adjustments in the social relationships of individual men, or
women, or children.

(A) Richmond (B) Jarrett

(C) Lowry (D) None of the above

Ay S A vl AR 2l : ‘alsaoid Y, waal {0 vyl sunginl
AULrs AUl ay ] olsart alaal sar :

(A) RuMs (B) g2

(C©) aad (D) Guz-l 95 ¥ «idl

17  Who defined the following definition on Social Case Work : 'Social Casework
is a process used by certain human welfare agencies to help individuals to
cope more effectively with their problems in social functioning'.

(A) Wilsnack (B) Bowers

(C) Perlman ~ (D) Boehm

AR 3 s wR QAN vl g9 g 2 8 ¢ ARG 33 af 32dls wna
seq18L Ay gt Gualod Al viadl uBuL 8§ % @lsaxla arulss sidai
ddll Al A Ay ARS N AL sANL ASIA 52 B,

A) Be-s (B) el

(C) uddw (D) oA&
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18 Which one of the following is not the objective of Social Work Profession:

(i) To help people make such use of their own capacities and of
environment resources as will result in personal satisfaction and social
adjustment

(i) To help in the modification of the environment so that people will
have fewer personal and social problems

(iii) To create self sufficiency

(iv) To provide socio-legal aid

Select the correct answer from the code given below :

(A) (i) and (i) (B) (1), (11) and (111)

(C) () and (iv) only (D) All of the above

3 izl S5 s s 51 Aav AL 8g .

() -l il andld 29 yalazel At Gualal sMi Hee 5L W2,
[5100d Adl™ A AUBrs ANsami wRHA.

() walaeidl 3siRMi vee sl ¥l dls il dlsdatd i Als
AHRJYLAL S1Y.

(i) 2a-ulRyeldt si-iaal w2

(iv)  wulrs sl asiy yil wzal

(A 2udat Sniell qoy wAsL vie 53U,

(A) (i) &4 (ii) B) (i), (ii) @A (iii)

(C) 85 (i) A (iv) (D) Gu-l o4

19  Which of the following is not-the method of Social Work Profession ?
(A) Community Organization
(B) Social Action
(C) Social Welfare Administration
(D) Social Pathology
AArnidl AS 25 w1y 518 Al ugli el
(A)  asis Ads (B) urulys sidaidl
(©)  aulys seust adlaz (D) aulrs Aouasun

20 Which of the following is the purpose of Social Case Work ?
(A) Solution of the personal problem
(B) Development of personality of individuals
(C) Stating reality and emotional problem of an individual
(D) All of the above
il Aflua 3u adAl &g s 8 7
(A)  alsaold au-L G3a
(B) alsa-i aulsiasd s
(C) alFm-l aidlisdl 219 earicns a4 suladl

(D) Gux-l syl ¥
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21 Which of the following is the techniques of Case Work Treatment ?

(i) Support (ii) Clarification

(ii1) Insight (iv) Resource Utilization
Select the correct answer from the code given below :

(A) (i) and (ii) are correct (B) (), (i1) and (iii) are correct
(C) (i) and (iv) are correct (D) All of the above
el ARl asMa 1A 2wdarid 5§ 82

G A (i) Rl

(iii) la:gl= (iv) wlld Gualal

{13 aulen il L Fawel e s3

(A) (i) - (i) R B) (@), (i) 2 (iii) AL
(C) (@) 61 (iv) (D)  BuR-il &1y AIRAL

22 Which of the following is component of Social Case Work ?

(i) The Person ‘(1) The Problem
(iii)) The Place (iv) The Process
Select the correct answer from the code given below :

(A) (i) and (iv) only (B) (i) and (iii) only
(C) (1), (11) and (111) only (D) All of the above
Al s w5 Alss sl ves @ 7

i s (i) wxAL

(iii) n (iv) uBu

A 2wdan Sniell AL FUs w5

(A) 854 (i) & (iv) (B) &s5d (i) @A (iii)
(C) s5d (i), (ii) A (lii) (D) GBuarL &L o

23  Which of the following is not the purpose of the Group Work ?

(A) To prepare the individuals to learn to share responsibility in the working
of democracy as active citizens.

(B) To prepare the people for social change
(C) To give opportunity to those who have potentialities of leadership

(D) To create problems of adjustment by development of individual's
personality through the group process.

A-nidfl sdl Yy ad-l &g el ?

(A)  aBu AwRs a3 diswidlHl st el adaaid dlval Wi ulsaeia
dUR $AL.

B)  wrulys uRadd qi2 dla AU s4l.
(C) ~igeal AMfddl 4uddl €S ds 2.
(D) u WBA arL Alsad Alsiadl s Rl dlsasll axuel Qe sl
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24

25

26

27

Which of the following is not the basic assumption of community

organization ?

(A) Facilitation growth in community capacity

(B) People want to change and they can change

(C) Without such participation, democracy has no life or vitality

(D) Communities of people can develop the capacity to deal with their
own problem(s).

il sdl Aely Adstil yaeya wrew wdl ?

(A) wqelndl anami yRw Rsw

(B) dlsl cleclla s IS S i il 53w V.

(C) il Ageulidl Rn1, dlsweldi @a- waql wauls «l.

(D)  elsiri ayer Al ol a4e00 Q12N gaiza aidid 1aid 93 8.

Which of the following is the sub-model of elites social action ?

(A) Legislative action model - (B) Sanction model
(C) Direct physical model (D) All of the above
Na-uaiel sl Aeflzga (G aol4)) wrulss selad-) a4l 7
(A) [Ruduen ssuq H3a (B) ¥R Yl

(C) A4 gy HRe (D) Gua-+iL o4l o

Which of the following Social Work Method is directly having one to one
communication with client ?

(A) Social Action Method

(B) Social Research Method

(C) Social Case Work Method

(D) Social Group Work Method

A wdanidl s ARua af Wa Al 24 nes WA As YARM B?

(A)  AUlBrs s W
(B) wHlrs Ay He
(C) rulrs 3 af e
(D) arulss yu af e

The Twenty Point Programme is addressed to which of the following
community in India ?

(A) SC (B) ST
(C) OBC (D) Open

ol Her-il A MRdsAL AL S0 wYsIUA @y W B ?

(A) 2, Afl. 3o (B) . 4. 2ad

(C) 2. ofl. «l. 322 (D) 20U (%+irae) 322
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28

29

30

Which of the following is the objective of HRM ?

(i) To manage the workforce on scientific and systematic basis

(i) To train and develop employees as per need of the organization

(iii) To provide effective leadership to the organization

(iv) To increase the level of motivation and job satisfaction among employees
of the organization

Select the correct answer from the code given below:

(A) (i) and (ii) only

(B) (i) and (iii) only

(©) (1), (11) and (111) only

(D) All of the above

Wi A gL Giay 13 A5l 50 B 7

@) AswFs wA AR D sdaaHdl gzl sdl.

(i)  oreRizanrll w3RA 3ol HRANBNA el 2uual 2 Bsi K4l

(i) A& MRS Adcd Uel s,

(v) @l sfudladyi Aeu A sl Al A 48R

QA 2udal Hauidl Woy watel wAe $A

(A) 54 (i) A1 (i)

(B) s§5d (i) A (iii)

(C) 854 (i), (i) 2 (iii)

(D)  GuR-lL e

Who was the first Social Reformer which is connected with widow
remarriage ?

(A) Gopal Krishna Gokhale

(B) Ishwar Chandra Vidyasagar

(C) M. G Ranade

(D) Mahatma Gandhi

Riaar Yo A AAG nad Aules YaRs S8l ed ?
(A) oluia w1 2ANMd

(B) SaR Ag RaRWeR

(C) u.». U

(D) wsie 2udl

Social welfare is a specialized work for the benefit of the weaker sections like -
(A) Drug addicts, alcoholism and their families

(B) School dropouts and illiterate children

(C) Disadvantaged children, women and handicapped

(D) Victims of caste and gender biases

AMIY SEURBL o0l dLSl HI2 510 52 8 FHS
(A) gt Hauis A L uRar).

(B)  uouL 6913l vie [HRe&eL sl

(C) clud suasl, 2o A Rsaidl.

(D) skt x4 ol ydas-u IRAL.
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31  Which among the following is a theory of personality ?

(A) Psychoanalytic Theory (B) Social Learning Theory
(C) Self Concept Theory (D) Above all
a-uniedl 56§ Alficaxd fgid ?
(A)  u-dlaus Kgid (B) lRwua alfa fgid
(C) =a sAe Rgid (D) Gyl 6l

32 According to Freud personality is composed of :
A Id (B) Ego
(C) Super Ego (D) All the above
A3 Ad Aalsicasdl - il ..
(A) ¢ (B) ey
(C) YU ey (D) Gs- Gy

Read the passage given below and answer the following questions as per the
understanding of the passage (Question No. 33 to 37):

The post liberalization and globalized Indian economy is witnessing shrinking
role of state and growing role of Corporate and Business in overall development
of country. Corporate with their wider reach, professionalism, innovation and
wealth have the ability to influence the pace of growth and development. In recent
survey it was found that the public expectations from corporate and business are
growing. Indians feel that business sector must play a wider and more expansive
societal role. In addition to providing good quality products at reasonable prices,
companies should strive to make their operations environmentally sound, adhere
to high labour standards, reduce human rights abuses and mitigate poverty.

Corporate Social Responsibility in the past few decades has intrigued not
only the scholars but the practitioners as well. It is essentially a concept whereby
contribute to a better society and a cleaner environment. Companies consider
themselves as an integral part of the society and act in a socially responsible way.
Till vary recently it was viewed as philanthropic activity indulged into only when
the firms were in jeopardy. But it is now viewed to be inclusive, broad and
diverse. CSR is now viewed as integral part of business strategy to minimize the
business risks linked to uncertainty.

Most of the multinational Corporates have their CSR wing and department
exclusively dedicated for doing community development and CSR activities directly
or indirectly in the vicinity of their operations. They recruit professionals from
social work, rural development and other developmental fields to undertake and
manage the CSR activities or company. It is observed that companies whose
operations directly impact the nature like mining, manufacturing, power generations
etc. have CSR wing quite active to tackle the grievances of the nearby population
and engage the stakeholders. In green field projects, we have seen corporate giant
and government struggling hard to get the land acquisitions and Resettlement and
Rehabilitation (R & R) issues solved, here also CSR professionals are in great
demand.

This is hard to clarify due to the diverse roles and range of disciplines
involved. Though the major skills required for successful CSR Professional are
business skills, people skills and technical skills. From above three skills, following
six core competencies are listed for managers involved with CSR in organizations
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viz. Understanding society, building capacity, Questioning business as usual,
stakeholder relations, strategic view, and harnessing diversity.

42 sl s aial A F5AA ANTRL {AoL AL uslL Fae

(wast ~i2-33 ¢l 37)

Geidlsaal oie AR APudlgd cirdla 2eldat uql Ade sl uad w1 auiRe
) cqusll audl wdl oyfusid oyl el | 8. AdRe, dn-dl g udia,
opaaillsaal, Adldy 2 Auf il 9ls 27 Bsel oA weulid s2anel dxdl aud
8. diFd-l ATaemi g Anedl 1ef e 3 AR A @arua-dl NdR Alall adl &)
8. oudlAlN cdl © 3 49184 Aol s 219 a4y Rgd ARURs oyfust eogadl 2iiaus
8. ool GU AR DpiaTiAlel Gatlesdl Heirl 524l GURid, Su-{lal daell HuRa-us,
QUALRRIML A1 51, G2 8 DR81, wias 524, Hid RS guElon 2Ll
2 olefl H2lal HIZ HAt sl RS

Beatl Jzals sluspdul HulRe Aeud RAAFAMAAN ssa Rgaurd ¥ «Adl uig
Al uel st 530 B, A ucLAsuEL s VAl B Fell g1 AY ARL AAUY AL %9
Al otsi 1A . Fu-Dul Wt WAL AR~ v{oL ¢ WA © A Wlss
A wuosR A s 52 8. i e @i Yl A wAusidl ugk adly i 2udl
ol ol su-llal Avaal edl. wig s AR @Aus, 2s 2 Bla a3 B 20
8. wMBuddl 0d Asnddl -l AUAA g21zal W ¢ AlPABRA Aquils
el B G131 30 Al 2ud 8.

Wil slgAA ARzl du-l AR [ 21 Buied-z vz s394 ayeiasil
Rusia 219 LA 202, gl w2 A4 iga uwda Ad dssie sl 1osii sa
a2 willd 9. A ANasR wafid wadl 540 s val 219 Auld 9 w2
AR5 510, Al Bt iR 2 Fusia Aodaiel cndua-l drdl 2 9. Ad Rdaw
sl 20d B 3 ¥+l 512003 wueisin, Gewted, war Al ad Fdl uglad A Aa
AT 52 B A Al A sRADA g2 53 2 RV sl W2 voL % AU .
Al Bes WFszanl, A SRz R v ARSRA It SelicRell AR Yt A
yadad (3R, 3. 2UR.) %ellA Ghadt w2 avid dud sl 8, AT A2AAAR MdAe
YRL w6l Hidl Hd 8.

WA el Ry ofsio 2 AR0A 519 Awredl sl Hda 8. AL 3 usa
AU AQARLS 212 HUAUS YU 2l3d AdUIBS FUadL, €8l gAadL 2 dsl4
S0 B Gusd A8t gradiell, AAHL A W2 AR WA Astuddl A
WE 19 o AaHAlA YR D, wA anyd, addl eriadl, e ddld we yod,
(el Aoidl, Heicns sMRARL A [laudid A3,

33 After liberalized and globalized Indian economy, what are public expectations
from corporate and business world?
(A) Earning more profits
(B) Serve more market interests
(C) International business
(D) Business and corporate sector must play a wider and more expansive
social role ‘
GeR 22 AR5 g ARl veldot uedl, ARz 2R Haudly Risasll md 28 48 7
(A) ay -8\ sAadl
(B) ay ol Al suudl
(C)  idudly durR

(D) P »i ile As2d aus 219 ay Rirga 0lss oyfst madl wdes 8.
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Why should corporate and business work for society ?

(A) To improve their business outcome

(B) Corporate consider themselves as integral part of the Society and
therefore act in Socially responsible way

(C) To improve their image

(D) To find more shareholders

A HI2 SR2 A Bosia W AR s 539G BASA ?

(A)  d3t-il yqad uRBIY YHIRAL W2

(B)  SIR2 dldiA Al 25 A~ 2000 30 S adl Aulyrs A ol A9

54 53 8,
(©)  dull el yuran w2
(D) QY qRuR4 AdydL 2

How can CSR in corporate world be best managed ?

(A) There should be a separate wing or department to manage CSR
(B) Chief Executive of the Company

(C) Human Resource Department

(D) Finance Department

ARz [zaui Al A2, 3d) Ad A Ad d2faq 4 93 ?

(A) AL A2Aan 9 W2 adL Rewst 2aql Reysy Qdl Ase.
B) su-l-u Als AsAsyda

(©)  *Ha Awux e

(D) -Budla wug

What skills a CSR professional should have to effectively deliver the services
to society ?

(A) Communication skills

(B) Philanthropic and helping skills

(C) Business skills - combined with people and technical skills

(D) None of these

WY 515 A Al wdar w2 YA A4R. Ndad W 65 gaaa
€ldl AdHA ?

(A) udUA Slaey

(B) uRAuSIA A ALIus Al

(O)  Hdul guadl - sl 2R dsldl (aibis) saadi wd Auda

(D) Gyl 818 o ]

What should be the core competencies of a CSR professional ?
(A) Understanding the community

(B) Capacity building of people in community

(C) Harnessing the diversity in the community

(D) All of the above

AL2AA. 2R, AaAs] oy waddl § Ll ASA ?

(A)  Adeln yudl

(B) uyelni dl-l axa Male

(C) el ARBudi-l 26 2uydl

(D) Guz- oL o

BPK-21008_A | 13 [ Contd...



38

39

40

41

42

43

Whose piece of theoretical work contributed for industrial relations ?

(A) Adam Smith (B) Allan Flanders
(C) Karl Marks (D) Hayman
2elis Aol w2 8 Auikis st s B ?

(A) 2 R (B) wual g
(C) sd st (D) Suni

Which of the following is not the basic function of trade union ?

(A) Political (B) Social
(C) Welfare (D) Legal
3 sudariifl 59 As 23 yMansd yaod sl 4l ?
(A) UAFS (B) uulxs
(C) seulsL (D) slueLsly

Which of the following is statutory welfare provision of labour welfare
under Factory Act ?

(A) Washing facilities

(B) Facilities for storing and drying clothing

(C) Welfare Officers

(D) All of the above

3529 wMa S50 s senridl dufs seney Ao A 3o B
(A)  ei-ual Dl i

(B) 543l RidAsal A ygaql de-l 3R

(C) seut sl

(D) GBu-il 68l %

In which year Unorganized Workers Social Security Act was passed ?
sa a¥ AL el AHPrs YA SIHEL YR Al sl ?

(A) 2007 (B) 2008

(C) 2009 (D) 2010

In which year Minimum Wages Act was enacted ?
sl a¥ agdd dd-t SIUEL B3l el el ?

(A) 1948 (B) 1965

(C) 1975 (D) 1976
Which of the following trees has medicinal value ?
(A) Pine (B) Teak

(C) Neem (D) Oak
QAniel s gellmi DA yell 8 7

(A) s+ (B) L

(©) dina (D) 2
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50

When was the National Disaster Management Act was passed in India ?
SURAML UYL [ Hdeyx SIEL $HR YR 24 8d) 7

(A) 2003 (B) 2004

(C)y 2005 (D) 2006

Which one of the following is not a major role of Social Worker ?
(A) The Enabler (B) The Guide

(C) The Therapists (D) Technical Changer

A sudanidl S As wnilss selsaell you ofig <),

(A) &M (B) Hwlsds

(C) GBuawrs (D) dsld AR

Who said “our personalities are the sum total of our overt and covert responses
to the world around us' ?

(A) Rogers (B) B. F. Skinner

(C) Sigmund Freud (D) Abraham Maslow

AR 58 B % viusll Al A wuel sugeuyl gFasi wilal wkua w9
Y212 UBupd-d aae) 8 ?

A A% (B) oll. As. MR

(C) [Ruovig s (D) »asid Hikelq

"Drug' is a chemical substances, which has distinct physical or psychological
effect. State by ?

(A) Robin L. (B) Jullian
(C) Green (D) Bogurds

‘$U 25 AAARS ueld B, % [t ollfes wual 4ol AL B 52 D, w1 R
5191 sqf ?

(A) sl Aq. (B) el

(C) oflw (D) sdoudy

Which year the Pre-Natal Diagnostic Techniques (PNDT) Act came into
formed ?

sl ¥ yl-Aed ilalRes dslaidl @l sl vl ed) ?

(A) 1993 (B) 19%4

(C) 1995 (D) 1996

Which year the Bio-Medical Waste (Management and Handling) Rules came
into exists ?
su1 a1 dsa Qe (A2 A S=3Ri0) Ml wRcanl 2iieul.

(A) 1996 (B) 1997
(C) 1998 (D) 1999

Human Poverty Index was developed by

(A) UNCR (B) UNICEF

(C) UGC (D) UNDP

WAd Adlefl Yasis At gl RsuaqdEi 2udl sdl ?

(A) Y.l R, (B)  y.¢4.205.(.5.9s.
(C) 3.2 (D) y.2.4.4.
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